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The enrollments for the first eight years of a
charter school are shown in the graph. Based on
the line of best fit shown, what would be the
school enrollment in Year 10?

A 850 students
835 students

B
C 810 students
D 780 students
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Ortiz played a game in which he
needed to toss a number cube twice.
What is the probability that Ortiz
would toss a 4 then a 3?

A 28% C 3%
B 27% D 2%
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The ages of 17 people attending a
movie are shown below.

23 21 24 16 15 25 36 9 27
28 30 65 38 41 33 20 3

Which age(s) can be considered an
outlier?

A 3 C 3and65
B 3and9 D 65
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At a carnival game, a wheel has 12
equal-sized sections. Landing on one
of the sections wins the player an
extra spin. What is the chance of a
player winning an extra spin two
times in a row?
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A toy repair shop has replacement
tires for bikes and kiddie cars. The
equation 20 = 2x + 4y shows the
total number of in-stock tires for

x bikes and y kiddie cars. Which
aspect of the graph of the equation
represents the number of kiddie cars
when there are no bikes?

A slope C y-intercept
B «x-intercept D unit rate




